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September 6, 2011 

Each equation below contains the initials of 

words that will make it complete.  Find the 

missing words.   

Example:  36 = I in a Y  the answer is 36 = Inches in a Yard 

      3 = V in a T 

      4 = Q in a G 

      6 = S of a H 

      11 = P on a FT 

      12 = E in a D 



 

Answer 

3 = V in a T is 3 = Voices in a Trio 

4 = Q in a G is 4 = Quarts in a Gallon 

6 = S of a H is 6 = Sides of a Hexagon 

11 = P on a FT is 11 = Players on a Football Team 

12 = E in a D is 12 = Eggs in a Dozen 
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Each equation below contains the initials of 

words that will make it complete.  Find the 

missing words.   

Example:  36 = I in a Y  the answer is 36 = Inches in a Yard 

      12 = I in a F 

      16 = O in a P 

      20 = Y in a S 

      52 = C in a D 

      60 = S in a M 



 

Answer 

12 = I in a F is 12 = Inches in a Foot 

16 = O in a P is 16 = Ounces in a Pound 

20 = Y in a S is 20 = Years in a Score 

52 = C in a D is 52 = Cards in a Deck 

60 = S in a M is 60 = Seconds in a Minute 



Bell Ringer 
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Acronyms are words formed from the initial letters 

of other words.  What do the following acronyms 

mean? 

Example:  LOL means Laugh Out Loud 

1.  VIP 

2.  IRS 

3.  TLC 

4.  KO 

5.  COD 



 

Answer 

VIP = Very Important Person 

IRS = Internal Revenue Service 

TLC = Tender Loving Care 

KO = Knock Out 

COD = Cash On Delivery 
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Acronyms are words formed from the initial letters 

of other words.  What do the following acronyms 

mean? 

Example:  LOL means Laugh Out Loud 

1.NATO 

2.IQ 

3.RSVP 

4.FIFO 

5.SPCA 



 

Answer 

1.  NATO = North Atlantic Treaty Organization 

2.  IQ = Intelligence Quotient  

3.RSVP = Repondez s’il vous plait (please reply) 

4.FIFO = First In, First Out 

5.  SPCA = Society for the Prevention of Cruelty 

to Animals 


